Y12 BTEC INDUCTION 2023 - Measuring the Enthalpy of Combustion of Ethanol

1. Watch this video. (https://www.youtube.com/watch?v=AIc5UGFG3rQ).

2. Write a method for the experiment. (Include all equipment and measurements taken.)

3. Below are some results from another experiment.
a) Plot a graph of these results. Include a line of best fit.

Time (s) 0 30 60 90 120 150 180 210 240
Tem‘(’fcr;'t”re 20 32 42 50 57 63 70 75 80

b) Use the graph to deduce the temperature rise in this experiment.
c) Calculate the enthalpy change for the reaction.

Enthalpy change = 100 x 4.18 x temperature rise = .......cccevevevevererereenn J
d) The value calculated in c) is less than expected.

Suggest two reasons why the enthalpy change is lower than expected. Describe an improvement to the
method for each reason.



https://www.youtube.com/watch?v=AIc5UGFG3rQ
https://www.youtube.com/watch?v=AIc5UGFG3rQ

;_.* .-6.?..-.“¢ o @ T4 $--! { »
5 - it - -
| een faseaciier soane nipny Hos s sas sy
g - ;.~“-_~¢ — g e bee -

. - TEEE --.—..xao o ' * [] & -
{ .1- >+ ¥ 0‘0 dreafovas | sty fborgd et on
+ " >ohe - e A . ' X4 LR
- esdivinntibiednd B o-gd __...-!--.i "
= i : ST et B B S i
i L N ey ERan e '
.-t N N S e »
M4 PO PRSI S Ipa S B
g = g
popibfoflgwso fosocpocedi ft—pribesabnssca ot -}
e i *t it | recretrgqrres inges
e - i bod = 0o b ibpreweqailos i -q »
s -

re oy

| [ o ad o § -
.-! e | e

R e

i=l r-:rf! oe 4

poan g P oyl
- - - ?A
- G ——

—

e -

o we-oili

B e

S is detel

.- e

- — — 2 3 ..
-~ . - e v o . TE TETE e Sl W § T e
pa-a-2 = s srs365c IR T —“ézw = Tl P o B +it £ Se 54
[ B TS —" W -3 4.3 vae b wd - P - b g - e - i --Z.
e LEE - poed boooa o ' - —— f e | e g e hugwpq ey
& 5 - @ 9P p— | g Ta by " & 3 §
b5 1 y ' ’ - - "
-—— - P - St BB - 1. 6-0.——--.' [ e e B e S I
1 ] e P = 3 eede :6..—-‘.-0.. el T adew - [N e | 011
- § SEY TS Ty - .‘-i. Hegrd-8 - ordet of Pt e e “ -y »0"""1 {
Ji,?_.. e -_?-1; - it S SR .,.;-A..'E_- ‘ e § s § e b .4..1.9,-'13
‘;‘4 ST pry——¢

el
-

- L
L e are o den oo o

et

e Ll dlig
Fehealived st b, Sbae

eI b oy e b 4 y
| - 3 H
§ T if ==va o foba®ed
erwe - 4 -w }- e B - -
R e S (b 1 S =N e aibes
PO § Sitaingily H=3 P98 P § Sl - >y
.“5";.7—- = |'w;;;.-; 5% ‘;‘;-!
nd b s & —_’.‘I..J' a I-{D Rl
e | son el | Same IR R el
» o § TEIEE Rl
§
3
- »r'vv-!
S e
) boay
R R
el 'y
3 >
PN B
HE BT ES S bl bice
IR et B8 i
o eI B2 20 84
& 14 A
NESES ' Y D METDE MRS >
S [ ’ - - ﬁ' -
,z,“- EER Rkt -.’o ‘- >4 o . Its
> od e s iEe L BEL A T o
—s TIETETRS PESSS R [TR RS foww
. e R Rod T S e
o |t = 8 o & H e i s L &
e Kt e - - - A SRR SR
13 Tws Fnaa ) $3RTH ESTHS pEwmT NI TT) 13w we gnw
-
.j;::_l : 238l A::: L 1; : tL., P r's 1.3 rs
-y *TYTEIY 1 T 4 4 e . 4 T '
- + o """‘_ﬁ" . " . - SN ™
R § S - St B it ) e e ? Shapaps - 4




